H
S

g Il
= g |
S @10—1:_ .......
© S E
b — u -
1072 C
o S
10
o 10— 71 I PR B 1 1
s !
a4 i e RS AR R AR AL ARAAAED A A
0.5E << HEHAHHAHHEFHFH A -+
1 : 2 3 0'9: 1 : ; 2 3
10™ 1 1 -1 10™ 1 1 -1
0 TP p())T (PCA tloobeamllneP 0 TP p())T (PCA tloobeamllnef)
—=— DQM_original_originalvector_1000evt
—e— DQM_original_1000evt
—— DQM_fitted4_1000evt
£ £
e C
> ;\N
o o
=1 o

o1 0rH bl el
8 1.055— -------- ...........
: N A THRNAREER 1
0.0F : 0.95F ] L
107" L 1P pea HFbeamiindf” 10™ 1

2 3
TPl;g)T (PCA t%obeamlin%P

Ratio

1.05]

!

TTTT[TTTT[TTTT
¥

0.95! H
107t 1

: I 2 3
8%, (Pca tbeamiindf



	Contents
	Page 1


